GYAN BHARAT) SCHOOL
Pre - Board Examination (2023-24) *
~ Mathematics (041)
Class- 52

. ion C has 6 questions carrying 03 marks each,

5. Section p has 4 questions carrying 05 marks each.
sub- parts of the

6. Section ¢ has 3 case baseqd integrated units of assessment (04 marks each) with i
values of 1,1and?2 marks each respectively. ‘2 Questions of
7. All Questions are compulsory. However, an internal choice in 2 Questions of 5 o LD 2 B
Marks and 2 Questions of 2 marks has been provided. An internal choice has been R
marker Questions of Section E.

Section A
1

I HCF (16, y) = 8 and Lem (16, ¥) = 48, then the value of y is
(a) 24 3

(b) 16 _
(c)8 .
(d) 48 . S

" one zero of the quadratic polynomial x* + 3y + b s 2
(a) 10

(b)-8

()9

(d)-10
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(d)-1

The distance between the point P(1, 4) and Q(4, 0) is
(a) 4

(b) 5

(c)6
(d) 3v3

equal to 11 times its 11t" term, then 18™ term is

if 7 times the 7" term ofan A.P. is

(a) 18
(b)9
(c) 77
(d)0

fx=ay= bisthesolutlonofthepalrofequationsx-y-zwxi-
values of a and b are R e ,'

(a)3,5
(b)5,3
(c)3,1
(d)-1,-3

If x tan 45° slnaﬂ'-ms:-m'tanw‘,thenx equalto
(IN_ 3

ﬂ’);

© %

(d)1
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WJ Z ACBA ~APQR
(d) BBCA ~APQR

15

17

the foll ictri
For the following distribution y

the sum of lower limit p
o its of the modal class and the median class is

(b) 30
(c) 40
(d) 50

Two poles are 25 m and 15 m high : the
horizontal. The distance be 8N and the line joining their tops makes an anlle of 45° with

(3) 5 m tween these poles is:
(b)8 m

(c)9m

(d) 10 m

a

From a point P which is at a distance of 13 cm from the point O of a circle of radius 5 cm, the pair ~ (:
?f)mitsmandPRmﬂm@rdeamgm\gn.mfhea@‘meqmwmh

a SRR R el R e QITIY : i

(b) 65 cm? ek ety B et

(c)30 cm?
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section B
E is a point ON the side AD produced of a parallelogram ABCD and BE intersects CD at F. Showthat  (2)
AABE ~ ACFB- :

ABCis 3 triangle in
gD = BC-

OR
which AB = AC and D Is a point on AC such that gc? = AC x CD. Prove that

hofeachchordofonedrde (2)

5 ¢cm, then find the lengt

if radii of two concentric circles are 4 cm and

which is tangent to the other circle.
OR
point Pto 2 circle of radius ‘a’ and centre 0is 90°,

if angle between two tangents drawn from a
then prove that OP = av2.
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32

33

(i) have a sum less thap 7
() have a product less than 16 i
(iii) is a doublet of odd Numbers

Section D
(y

Two water taps together can fill a 3 3
tank in 9= ﬁ”
than the smaller one to fill the 1, y hours. The tap of larger diameter takes 10 hours

the tank. nk separately. Find the time in which each tap can separately fill

OR
A passenger, while boarding the plane, slipped from the stairs and got hurt. The pilot took the
passenger in the emergency clinic at the airport for treatment. Due to this, the plane got WI { catch

by half an hour. To reach the destinati

on 1500 km away in time, so that the passengers
trfe connecting flight, the speed of the plane was increased by 250 km/hour than the usual speed_.
Find the usual speed of the plane. ,

Atentisin the shape of a cylinder surmounted by a conical top. If the height and diameter of the ()
¢Ylindrical part are 2.1 m and 4 m respectively, and the slant height of the top is 2.8 m, find the

area of the canvas used for making the tent. Also, find the cost of the canvas of the tent at the rate

of Rs 500 per m2, Herethebaseofthetentlsnotﬁéﬁg"mmm : 2

s ; |

There are two identical solid cubical boxes of side 7cm. From the top face of the first cube a

hemisphere of diameter equal to the side of the cube is scooped out. This hemisphere is inverted

mmmmmammmsgrﬁ@wﬁmad&m.;m j o A
: 3 thetwo < solid IEI?I‘I‘-I‘E.E b ..‘?. 5 " :

f2inclass20—-40and  (5)
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(iii) Now Ramesh moves behind such that distance between pole andl Ramesh is 13 meters. He
a mirror between him and pole to see the reflection of light in right position. What is the distance

between mirror and Ramesh ?

Underground water tank is popular in India. It is usually used for
large water tank storage and can be built cheaply using cement-like
materials. Underground water tanks are typically chosen by people
who want to save space. The water in the underground tank is not
affected by extreme weather conditions. The underground tanks
maintain cool temperatures in both winter and summer. Electric
pump is used to move water from the underground tank to

overhead tank.
Ramesh recently built his house and installed a underground tank and overhead W“

Dimensions of tanks are as follows :
Underground Tank : Base 2 m x 2 m and Height 1.1 m.
Overhead tank : Radius 50 cm and Height 175 cm

- (1)

(i) What is the capacity of the underground tank ? :
(ii) What is the ratio of the capacity of the underground tank to the wad!y dmm (1)
(iii) If curved part of overhead tank need to be painted to save it from corrosion, how much area (2)

need to be painted? y
OR

(ui)Ifwaterisﬁledhtheovedxeadtankattherateqflg,;i.

completely filled in how much time?
Ajay, Bhigu and Colin are fast friends si
classroom. But teacher doesn’t allow then

EEEPRED"
l'!!H .
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